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Mid-Chapter 3 Practice
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1. Finn swims competitively for his school.
The table below shows his distance from the

starting point (in meters) and the time since
he started (in seconds).

Time (seconds) Distance (meters)

G T

15.25 244

+9 g:}.’-;.gs :,”.._.Qi-lz.b
Lx=19 Ay=12.8

Find Finn’s average speed.

_éf-—_- lza‘% = ].6 mebevs/sec
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2. Graph the function ‘E))(—Lw = 2
x=-int oy fivding the X- ohd _y-int
@ x-44d)- 32y~ Meroeprs. Be0f -4y =52

3. a) The cost of a Booster Club order of b) Draw a graph of cost versus number
sweatshirts % C = 50 + 30x Jwhere x is of sweatshirts ordered.
the number of sweatshirts ordered. R
Construct a table of values using = 7,
a domain of {0, 20, 40, 60}. 190D A
X Y 5600
4ob /
O| 50+30(0)|50 o /
(0D
20| 50 +3%0(20) |650 ol |/
o0
Yoo
4o [ 50 + 30(H0) [R50 400

O 1020 3% 4506 *

60| 50 + 30 (o) |80
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Josie sells necklaces for $10 and bracelets
for $5 at a Christmas Craft Fair. She wants
to earn $50. This situation is modeled by
the equation 10x+ 5y = 50 where x is the

number of necklaces she sells and v is the
g};mbg; of bracelets she sells. Find the

tercepts of t h of the equation.

Then graph the equation. Give three

sibiliti of bracelets and
necklaces that Josie

X-int yiwlr

loX+ 5¢0)=50

10x=50

lo

{:5 Y=|O

M"';y-so 12345678910“;
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(0)10) —> O necklaces
lo bracelets

— 9 necklaces
@2,0) =2 (omcélﬂd*s

(5,0) — 5 heckldces
0 bracelets

\
vkl \iorizontal

5. Sketch the graphs of x=2 and y =—4 on the
coordinate plane provided below.
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6. Make a table of values for the equation
when x=-3, x=-1,x=2, and x=6. Then '4

3(

graph the equation in the coordinate plane. - _ 5_ 21
y=—%x+3 .5 2_(—3> +3 2_(;
_ u?

—1 =30 +3 2

2 |-5(2)+ 3|2
o |-2(6)+5 12

7. Find the slopes of lines a, b, & ¢ from the
graph below. [“verkical line

b, g p
—3 /\\\ &
. linea M=_3
N =3
\\ /"a_} line b mw = L')
»-—- /’K\ ' .
e o ™ linec Wndefined
Z -~ \ﬂ
L~
n&r
v
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8. Find the x- and y-intercepts of the line with
the equation y = 3x - 8.

Y—=in Y-int
Ix -8 V=360 — 8
2

Ti% [+=-8]
o)

9. Write the ordered pair for each point
graphed. Describe their location (quadrant

an e (52) am

1T (3,4) Qm

11153 ! @ (0,™4) y-axis
g H
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range ~D &y <
g ~PEev<e 3
\east greatest

| o range
10. Graph the functio ith the given

domain of -1 < x < 3] Then identify the \l’
range of the function. v y
Y- 5 |9

4y(i) =51

4(2)-5 |3

u®) =513

11. Find the slope of the line that passes
through the following sets of points.

O GG

_ o=
2-C-1N
-

W\’-‘-g
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11. Find the slope of the line that passes
through the following sets of points.

RRCHREL

11. Find the slope of the line that passes
through the following sets of points.

m= >
+(-2)
-3

m= —
53

M= ~ &
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